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QUADRATIC EQUATION

1. Write any two quadratic equations.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
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https://doubtnut.app.link/MVcbJvrhfnb
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2. Decided which of the following are quadratic equations.

(Vz? + 52 — 2 = 0.

° Watch Video Solution

3. Decided which of the following are quadratic equations.

(i) y? = 5y — 10

° Watch Video Solution

4. Decided which of the following are quadratic equations.

1
(iii) y* + 5 =2

o Watch Video Solution



https://dl.doubtnut.com/l/_U3uHEJx560AH
https://dl.doubtnut.com/l/_NkIc24mxRTNH
https://dl.doubtnut.com/l/_fCpDRhhmOJj4

5. Decided which of the following are quadratic equations.

) 1
(iVvie + — = — 2.
x

° Watch Video Solution

6. Decided which of the following are quadratic equations.

(v) (m + 2)(m — 5) = 0.

° Watch Video Solution

7. Decided which of the following are quadratic equations.

(vi) m3 + 3m? — 2 = 3mS.

o Watch Video Solution



https://dl.doubtnut.com/l/_mn5MgmFE24ep
https://dl.doubtnut.com/l/_ekHOkeV2D498
https://dl.doubtnut.com/l/_fpS31pN5tnb1

8. Write the following quadratic equations in the form
az’ + bz + ¢ = 0. Write the values of a,b, ¢ for each
equation.

2y = 10 — y°

o Watch Video Solution

9. Write the following quadratic equations in the form
az? + bz + ¢ = 0. Write the values of a,b, ¢ for each
equation.

(x—1)°=2z+3

o Watch Video Solution



https://dl.doubtnut.com/l/_Z3dIqzpAkVqA
https://dl.doubtnut.com/l/_IfXwX7JF8pEz

10. Write the following quadratic equations in the form
az’ + bz + ¢ = 0. Write the values of a,b, ¢ for each
equation.

2?4+ 5= —(3—x)

o Watch Video Solution

1. Write the following quadratic equations in the form
az? + bz + ¢ = 0. Write the values of a,b, ¢ for each
equation.

3m2 =2m?2 -9

o Watch Video Solution



https://dl.doubtnut.com/l/_ZnqywhGETWPf
https://dl.doubtnut.com/l/_9xb7gEr5nQEK

12. Write the following quadratic equations in the form
az’ + bz + ¢ = 0. Write the values of a,b, ¢ for each

equation.

p(3+6p) = —5

o Watch Video Solution

13. Write the following quadratic equations in the form
az? + bz + ¢ = 0. Write the values of a,b, ¢ for each
equation.

r? —9=13.

o Watch Video Solution



https://dl.doubtnut.com/l/_zKsWQAhXdrjL
https://dl.doubtnut.com/l/_ZgZKOIBk3boE

14. Determine wheter the value given against each of the
quadratic equation are the roots of the equation.

Ma?+4e—-5=0z=1 —1

o Watch Video Solution

15. Determine whether the value given against each of the

quadratic equation are the roots of the equation.

5
(i)2m? — bm = 0, m = 2, 5

o Watch Video Solution

16. If =3 is one root of the equation

kz? — 10z + 3 = 0, find the value of k.



https://dl.doubtnut.com/l/_rR4o4roKsf1v
https://dl.doubtnut.com/l/_gUJyIpJN8NZD
https://dl.doubtnut.com/l/_L9xXFW1wlQAo

I o Watch Video Solution

17. One of the roots of the quadratic equation

5m? +2m 4+ k=0 is — % Complete the following

activity to find the value of k.

° Watch Video Solution

18. Solve the following quadratic equations by
factorisation method:

2 — 152 +54 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_L9xXFW1wlQAo
https://dl.doubtnut.com/l/_emI9uGK5zvgp
https://dl.doubtnut.com/l/_kdnkWQ5gzSGz

19. Solve the following quadratic equation by factorisation.

i)z +2—-20=0

° Watch Video Solution

20. Solve the following quadratic equations by
factorisation method:

2% + 27y + 13 =0

o Watch Video Solution

21. Solve the following quadratic equation by factorisation.

(iv) 5m? = 22m + 15.

o Watch Video Solution



https://dl.doubtnut.com/l/_egqj082BtOmT
https://dl.doubtnut.com/l/_KU0OpebN7OWH
https://dl.doubtnut.com/l/_toDuU9aDoEgA

22.Solve the following quadratic equation by factorisation.

1
(v)2:c2—2:c—|—§=0.

o Watch Video Solution

23. Solve the following quadratic equations by
factorisation method:
comp < tethefollow € gactivity — solvethe raticequation

sqart2x”2+7x+5sqrt2=0" by factorisation method:

° Watch Video Solution



https://dl.doubtnut.com/l/_toDuU9aDoEgA
https://dl.doubtnut.com/l/_PAF6kQM7UOLk
https://dl.doubtnut.com/l/_ENVnpYNVqjQs

24. Solve the following quadratic equation by factorisation.

(viii) 32% — 2,/6x + 2 = 0.

o Watch Video Solution

25. Solve the following quadratic equations by
factorization.

2m(m — 24) = 50

o Watch Video Solution

26. Solve the following quadratic equations by

factorisation method:

25m2 = 9



https://dl.doubtnut.com/l/_fMD1lgzXyIgy
https://dl.doubtnut.com/l/_ovFzRkMrqe2v
https://dl.doubtnut.com/l/_xzG9MEyYgE5Y

I o Watch Video Solution

27. Solve the following quadratic equation by factorisation.

(xi) Tm? = 21m.

o Watch Video Solution

28. Solve the following quadratic equation by factorisation.

(xiiy m? — 11 = 0.

o Watch Video Solution

29. Solve the following quadratic equation by completing

the square method: z° + 2 — 20 = 0



https://dl.doubtnut.com/l/_xzG9MEyYgE5Y
https://dl.doubtnut.com/l/_3NUos2mqcz7G
https://dl.doubtnut.com/l/_W7keVpsLsJ1Y
https://dl.doubtnut.com/l/_P2x0eUHzuwmT

I ° Watch Video Solution

30. Solve the following quadratic equation by completing

the square method: z° + 2z — 5 = 0

° Watch Video Solution

31. Solve the following quadratic equation by completing

the square method: m? — 5m = — 3

° Watch Video Solution

32. Solve the following quadratic equation by completing

the square method: 9y’ — 12y +2=0



https://dl.doubtnut.com/l/_P2x0eUHzuwmT
https://dl.doubtnut.com/l/_7d92Hx3fl8KW
https://dl.doubtnut.com/l/_gl3JAQNKxw2z
https://dl.doubtnut.com/l/_vIc8sYXDAxaO

I o Watch Video Solution

33. Solve the following quadratic equation by completing

the square method: 2y? + 9y + 10 = 0

o Watch Video Solution

34. Solve the following quadratic equation by completing

the square method: 5z = 4z + 7

o Watch Video Solution

35. Solve the equation 2z®+13z+15=0 by

factorization method.



https://dl.doubtnut.com/l/_vIc8sYXDAxaO
https://dl.doubtnut.com/l/_23MRHWmW0T8t
https://dl.doubtnut.com/l/_va1WaUHMwwcm
https://dl.doubtnut.com/l/_RSkG5Bs3SoKt

I o Watch Video Solution

36. Solve the equation 2z%+13z+15=0 by

factorization method.

o Watch Video Solution

37. Compare the given quadratic equation t the general
form and write value of a,b,c

Nz —Tx+5=0

o Watch Video Solution



https://dl.doubtnut.com/l/_RSkG5Bs3SoKt
https://dl.doubtnut.com/l/_IzTncytD4dxt
https://dl.doubtnut.com/l/_CbtFsBy8nik9

38. Find the values of ab,c for the following quadratic
equations by comparing with standard (general)form:

2m? = 5m — 5 and y* = Ty.

o Watch Video Solution

39. Solve the following quadratic equations using formula
method:

22 +6x+5=0

o Watch Video Solution

40. Solve using formula.

(iz? — 3z —2=0



https://dl.doubtnut.com/l/_3EcGa3Xd0HVB
https://dl.doubtnut.com/l/_gdiMDaqcI3kd
https://dl.doubtnut.com/l/_hAgGTnPKEdu9

I o Watch Video Solution

41. Solve using formula.

(i3m2 +2m —7=0

o Watch Video Solution

42.Solve using formula.

(iv)5m? —4m — 2 =0

o Watch Video Solution

43. Solve using formula.

Wy + sy =2



https://dl.doubtnut.com/l/_hAgGTnPKEdu9
https://dl.doubtnut.com/l/_jnYyJxucU0TD
https://dl.doubtnut.com/l/_rC4icYFIRSdA
https://dl.doubtnut.com/l/_Rxyx2PGDly4p

I ° Watch Video Solution

44. Solve the following quadratic equations using formula
method:

522 + 13z +8 =0

o Watch Video Solution

45. Find the value of discriminant of the following
quadratic equations.

Mz +10z — 7= 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_Rxyx2PGDly4p
https://dl.doubtnut.com/l/_Gfc16EuuMgcZ
https://dl.doubtnut.com/l/_fqwkHajIar02

46. Find the values of the discriminant for the following
quadratic equations:

2y — 5y +10=10

o Watch Video Solution

47. Find the values of the discriminant for the following
quadratic equations:

V2y? — by +10=0

o Watch Video Solution

48. Determine the nature of the roots of the following

quadratic equations from their discriminants:


https://dl.doubtnut.com/l/_dhSyljxQSQEq
https://dl.doubtnut.com/l/_SNgdk8Uh8rsg
https://dl.doubtnut.com/l/_j6zSfsMm9Ons

22 —4r +4=0

° Watch Video Solution

49. Determine the nature of roots of the following

quadratic equation: 2y* — 7Ty +2 =0

° Watch Video Solution

50. Determine the nature of roots of the following

quadratic equation: m? +2m + 9 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_j6zSfsMm9Ons
https://dl.doubtnut.com/l/_96Y4g1STfjdY
https://dl.doubtnut.com/l/_cEZbhwUXVuO2

51. From the quadratic equation , if the roots are:

0 and 4.

o Watch Video Solution

52. Write the quadratic equation if the roots are 3 and -10.

° Watch Video Solution

53. Write the quadratic equation if the roots are:

1]
g ¢ T35

° Watch Video Solution



https://dl.doubtnut.com/l/_h0q66xs83X1T
https://dl.doubtnut.com/l/_8Ou4133UayOa
https://dl.doubtnut.com/l/_H6cEtb7F15aO

54. Form the quadratic equation from the roots given

below.

(iv)2 — /5,2 + /5

o Watch Video Solution

55. Sum of the roots of a quadratic equation is double
their product.

Find k if equation is % — 4kz + k + 3 = 0.

o Watch Video Solution

56. If  and [ are the roots of the quadratic equation

y* — 2y — 7 = 0, find the values of


https://dl.doubtnut.com/l/_sNVPOjGKE1S9
https://dl.doubtnut.com/l/_hOAD2iOuKJu8
https://dl.doubtnut.com/l/_32yiNgvHEaeT

a? + B2

° Watch Video Solution

57. If alpha and beta are the roots of the quadratic
equation

y? — 2y — 7 =0, f € dthevaluesof alpha”2+ beta"2'

° Watch Video Solution

58. The roots of the following quadratic equation are real

and equal. Find k. 3y* + ky + 12 = 0

o Watch Video Solution



https://dl.doubtnut.com/l/_32yiNgvHEaeT
https://dl.doubtnut.com/l/_jfzTIMIljtGv
https://dl.doubtnut.com/l/_BA8Tqq6EUMOv
https://dl.doubtnut.com/l/_Ze8c8Y54bB9c

59. The roots of the following quadratic equation are real

and equal. Find k. kz(z —2) +6 =0

o Watch Video Solution

60. Product of Pragati's age 2 years ago and 3 years hence
is 84.

Find her present age.

° Watch Video Solution

61. The sum of squares of two consecutive even natural

numbers is 244. Find the numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ze8c8Y54bB9c
https://dl.doubtnut.com/l/_VxJd7LBtPTko
https://dl.doubtnut.com/l/_OAFJ2mLMPPoV

62. Vivek is older than Kishor by 5 years. The sum of the

1
reciprocals of their ages is & Find their present ages.

o Watch Video Solution

63. Suyash scored 10 marks more in second test than that
in first.

5 times the score of the second test is same as square of
the score

in first test. Find his score in first test.

o Watch Video Solution



https://dl.doubtnut.com/l/_9JwQwT69C2aM
https://dl.doubtnut.com/l/_Jdo0Tcx5nm8H

64. Mr. Kasam runs a small business of making earthen
pots.

He makes certain number of pots on daily basis.
Production cost of each pot is Rs. 40 more than 10 times
total number of pots,

he makes in one day. If production cost of all pots per day
is Rs. 600, find production cost of one pot and number of
pots he makes

per day.

° Watch Video Solution

65. Pratik travels by boat 36 km down a river and back in 8

hours. If the speed of his boat in still water is 12km/hr, find


https://dl.doubtnut.com/l/_eMdP7FuxEuQF
https://dl.doubtnut.com/l/_jmKOyyX8oWtM

the speed of the river current.

o Watch Video Solution

66. Pintu takes 6 days more than Nishu to complete certain
work. If they work together, they finish it in 4 days. How
many days would it take to complete the work if they work

alone?

o Watch Video Solution

67. If 460 is divided by a natural number, quotient is 6
more than 5 times the divisor and remainder is 1. Find

quotient and divisor.

° Watch Video Solution



https://dl.doubtnut.com/l/_jmKOyyX8oWtM
https://dl.doubtnut.com/l/_PvWwWrlI66L0
https://dl.doubtnut.com/l/_k9pTHb25JNtI

68. Choose the correct alternative answers
following subquestions:

Which of the following is a quadratic equation?

B.z(x +5) =2
Cn—1=2n

1
D.—(z+2) =z

Answer:

for the

° Watch Video Solution



https://dl.doubtnut.com/l/_k9pTHb25JNtI
https://dl.doubtnut.com/l/_MfVddtjBxOfG

69. Choose the correct alternative answers for the
following subquestions:
Which of the following is not a quadratic equation?

A z? + 4z = 11 + 22

B.z? = 4z

C.5z% = 90

D.2z —z2 =22+ 5

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ODXBvh7r5y9r

70. Choose the correct answer for the following questions.
(iii) The roots of 2 + kz + k = 0 are real and equal, find
k.

A.O

B.4

C.Oor4

D.2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_oHGxDl6siK5k

71. Choose the correct answer for the following questions.
(iv) For /2z% — 5z ++/2 =0, find the value of the
discriminant.

A -5

B. 17

C.sqrt2

D. 2aqrt2-5

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_y3hp1XaTT85V

72. Choose the correct alternative answers for the

following subquestions:

Which of the following equations has roots 3,5 ?

A. x"2-15x+8=0

B. x*2-5x+3=0

C. x"2+3x-5=0

D. x"2+8x-15=0

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Tmreu6hfBpKg

73. Choose the correct alternative answers for the

following subquestions:

Which of following equations has the sum of the root -5?

A. 3x"2-15x+3=0

B. x*2-5x+3=0

C. x"2+3x-5=0

D. 3x"2+15x+3=0

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_CFlxQF5LLgY5

74. Choose the correct alternative answers for the

following subquestions:
Vim? — /bm + /5 =0, which of the following
statements is true for this given equation?

A. The roots are real and unequal

B. The roots are real and equal

C. The roots are not real

D. three roots.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_m0MYp1LkbiEG

75. Choose the correct answer for the following questions.
(viii) One of the roots of equation 2 +mz — 5 = 0 is 2,

find m.

D.2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_YQ7fv7419L58

76. Which of the following equation is quadratic?

(i) 2% + 2z + 11 = 0.

° Watch Video Solution

77. Which of the following equation is quadratic?

(i) z° — 2z + 5 = x°.

° Watch Video Solution

78. Which of the following equation is quadratic?

(iii) (z + 2)* = 222

o Watch Video Solution



https://dl.doubtnut.com/l/_8t6HoXBXdECR
https://dl.doubtnut.com/l/_hmcGhfueFx3m
https://dl.doubtnut.com/l/_S6ryXz7kIRZS

79. Find the value of discriminat for each of the following
equations.

()2y> —y+2=0.

o Watch Video Solution

80. Find the value of discriminat for each of the following
equations.

(i) 5m? — m = 0.

o Watch Video Solution

81. Find the value of discriminat for each of the following

equations.


https://dl.doubtnut.com/l/_DVHiBHiIkHqc
https://dl.doubtnut.com/l/_PhvsXMOp8Lbx
https://dl.doubtnut.com/l/_kvxhDiTIW58I

(iii)y/5z? — 2 — /5 = 0.

° Watch Video Solution

82. If one root of the quadratic equation
222 + kxr — 2 = 0is -2, find

the value of k.

o Watch Video Solution

8. Two roots of quadratic equations are given, frame the

equation.

10 and — 10

o Watch Video Solution



https://dl.doubtnut.com/l/_kvxhDiTIW58I
https://dl.doubtnut.com/l/_Rt3gkaAWjhqF
https://dl.doubtnut.com/l/_thQ60CGBshVq

84. Two roots of quadratic equations are given: frame the
equation.

(i) 1 — 34/5 and 1+ 3,/5.

o Watch Video Solution

85. Two roots of quadratic equations are given: frame the
equation.

(iii) 0 and 7

° Watch Video Solution

86. Solve the following quadratic equations: 3z2-7x+5=0

° Watch Video Solution



https://dl.doubtnut.com/l/_ZPgNeZkt886T
https://dl.doubtnut.com/l/_riqImALVdxvn
https://dl.doubtnut.com/l/_dT2MX8Ri4rOD

87. Determine the nature of roots for each of the quadratic

equation.

(i) /32> + 22 — 2,/3 =10

o Watch Video Solution

88. Determine the nature of roots for each of the quadratic
equation.

(iym>—2m+1=0

o Watch Video Solution



https://dl.doubtnut.com/l/_dT2MX8Ri4rOD
https://dl.doubtnut.com/l/_YroiYSdO0aGh
https://dl.doubtnut.com/l/_f0HdXO0xLVLA

89. Solve the following quadratic equations.

1 1

Ve =2

° Watch Video Solution

90. Solve the following

2_3_a:_i -0
T 790 T 10

quadratic

equation:

o Watch Video Solution

91. Solve the following quadratic equations.

(i) (22 + 3)* = 25

o Watch Video Solution



https://dl.doubtnut.com/l/_Kux7C6fFGy5A
https://dl.doubtnut.com/l/_HvaJbBYRbC5A
https://dl.doubtnut.com/l/_HsUaDQhtWRRi

92. Solve the following quadratic equations.

(ivym? +5m+5=0

° Watch Video Solution

93. Solve the following quadratic equations.

W5m2+2m+1=0

° Watch Video Solution

94. Solve the following quadratic equations: iz2-4x-4i=0

° Watch Video Solution



https://dl.doubtnut.com/l/_aqKkS0k2YFZu
https://dl.doubtnut.com/l/_9W6Qs6cZqM24
https://dl.doubtnut.com/l/_5lEje8L7tcFu

95. Find m, if the quadratic equation
(m —1)z? = 2(m — 1)z +1=0 has real and equal

roots.

o Watch Video Solution

96. The sum of two roots of a quadratic equation is 5 and

sum of their cubes is 35. Find the equation.

o Watch Video Solution

97. Find quadratic equation such that its roots are square
of sum of the roots and square of difference of the roots

of equation 2z + 2(p + q)z + p* +¢* =0



https://dl.doubtnut.com/l/_nJTZewaMZ2iM
https://dl.doubtnut.com/l/_cJejrr6UWPzs
https://dl.doubtnut.com/l/_hAOQGVSoTztY

I o Watch Video Solution

98. Mukund possesses Rs. 50 more than what Sagar
possesses. The product of the amount they have is 15,000.

find the amount each one has.

o Watch Video Solution

99. The difference between squares of two numbers is 120.
The square
of smaller number is twice the greater number. Find the

numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_hAOQGVSoTztY
https://dl.doubtnut.com/l/_6srHWFpr0G9K
https://dl.doubtnut.com/l/_xWJmdr3HYhBD
https://dl.doubtnut.com/l/_oXnmNnh8Yfdf

100. Ranjana wants to distribute 540 oranges among some
students. If 30 students were more, each would get 3

oranges less. Find the number of students.

° Watch Video Solution

101. Mr. Dinesh owns an agricultural farm at village Talvel.
The length of the farm is 10 meter more than twice the
breadth. In order to harvest rain water, he dug a square
shape pond inside the farm. The side of pond is % times of
the breadth of the farm. The area of the farm is 20 times
the area of the pond. Find the length and breadth of the

farm and of the pond.

° Watch Video Solution



https://dl.doubtnut.com/l/_oXnmNnh8Yfdf
https://dl.doubtnut.com/l/_DKR7vJe8exOz

102. A tank fills completely in 2 hours if both the taps are
open. If only one of the taps is open at the given time, the
smaller tap takes 3 hours more than the larger one to fill
the tank. How much times does each tap take to fill the

tank completely?

o Watch Video Solution

1. Six years before, the age of mother was numerically
equal to the square of son's age. Three years hence, her

age will be thrice the age of her son then. Find the present


https://dl.doubtnut.com/l/_zLig5RzLCai2
https://dl.doubtnut.com/l/_AmAqEHsYTgF9

ages of the mother and son.

Write mother's age six years before.

o Watch Video Solution

2. Six years before, the age of mother was numerically
equal to the square of son's age. Three years hence, her
age will be thrice the age of her son then. Find the present
ages of the mother and son.

Write their present ages.

° Watch Video Solution

3. Six years before, the age of mother was numerically

equal to the square of son's age. Three years hence, her


https://dl.doubtnut.com/l/_AmAqEHsYTgF9
https://dl.doubtnut.com/l/_R3rlxg0w0Yhh
https://dl.doubtnut.com/l/_SZ9fczuo8LPu

age will be thrice the age of her son then. Find the present
ages of the mother and son.
Form a quadratic equation from the given condition and

solve it.

o Watch Video Solution

4, Solve:

22002 | 1072001
102000

=957.9

o Watch Video Solution

5. Choose the correct alternative from those given below
each question:

Which of the following is quadratic equation?


https://dl.doubtnut.com/l/_SZ9fczuo8LPu
https://dl.doubtnut.com/l/_FMtKkY0G8RmK
https://dl.doubtnut.com/l/_qiHueKAmv6Ha

A. 6x"2=20-x"3

B. 3/x-3=4x"2

C.x*2(1/x-2)=7/2

D. 5x+7=3x

Answer:

o Watch Video Solution

6. What is the solution of the quadratic equation

2r2 — Te + 6 = 0?

A()22
(@) 2, 3

B. (b) —7.3333333333333


https://dl.doubtnut.com/l/_qiHueKAmv6Ha
https://dl.doubtnut.com/l/_BqdTYLMak0OL

C.(c) —0.13636363636364

D(d)3 2
. 5

Answer:

° Watch Video Solution

7. Choose the correct alternative from those given below

each question:

Which of the following is the value of the discriminant for
2¢2 + 5,3z +6 =0

A .27

B. 123

C. 25sqrt3-48


https://dl.doubtnut.com/l/_BqdTYLMak0OL
https://dl.doubtnut.com/l/_JSVxhegCYRzq

D.72

Answer:

o Watch Video Solution

8. Choose the correct alternative from those given below

each question:

Which of the following equations has roots-2 and 7 ?

A. x*2+5x-14=0

B. x"2-5x-14=0

C. x"2+5x+14=0

D. x"2-5x+14=0


https://dl.doubtnut.com/l/_JSVxhegCYRzq
https://dl.doubtnut.com/l/_VC7U6WEW5pGv

Answer:

° Watch Video Solution

9. Choose the correct alternative from those given below
each question:
If a, B are root of quadratic equation then for which of the
following equations is a + 8 = 5?

A (a) 2z% + 10z + 25 = 0

B.(b) z° — 10z + 25 = 0

C.(c)3z® + 152 — 16 = 0

D.(d) 3z?> — 152 + 16 = 0

Answer:


https://dl.doubtnut.com/l/_VC7U6WEW5pGv
https://dl.doubtnut.com/l/_tVaNnFrZg1EV

o Watch Video Solution

10. Choose the correct alternative from those given below
each question:
What is the nature of the roots of the quadratic equation
4z — 8z + 9 = 0?

A. real

B. not real

C. real and equal

D. real and unequal

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_tVaNnFrZg1EV
https://dl.doubtnut.com/l/_lkRb35A6KPvZ

11. Choose the correct alternative from those given below

each question:

What is the nature of the roots of the quadratic equation

9z2 + 25 = 30?7

A. real

B. not real

C.real and equal

D. real and unequal

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_lkRb35A6KPvZ
https://dl.doubtnut.com/l/_2TSdUnqtMyC8

12. Choose the correct alternative from those given below

each question:

What is the nature of the roots of the quadratic equation

202 — 3z — 4 = 0?

A. real

B. not real

C.real and equal

D. real and unequal

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_PQ8z3KK4VvrQ

13. Choose the correct alternative from those given below

each question:

What is the value of k for which the quadratic equation

3x"2-kx+k=0 has equal roots?

A3

B.6

C.9

D. 12

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_d3h20la7OfJP

14.If a, B are roots of gadratics equation then for which of
the following equationsisa + 8 = 11 and a8 = 33 ?
A@)z® — 11z +33 =10
B.(b) z*> — 11z — 33 =0
C.()z® +1lz +33=0

D.(d) z? + 11z — 33 = 0

Answer:

o Watch Video Solution

15. Choose the correct alternative from those given below

each question:


https://dl.doubtnut.com/l/_HehtD4Xmyoob
https://dl.doubtnut.com/l/_XtA7rpMZA7in

What is the value okf K, if one root of the quadratic
equation

kx? — 7z + 12 = 0is 3 ?

AT

Answer:

° Watch Video Solution

16. Choose the correct alternative from those given below

each question:


https://dl.doubtnut.com/l/_XtA7rpMZA7in
https://dl.doubtnut.com/l/_6tD8v12T1tos

If one of the roots of the quadratic equation

kx? + 2z — 8 = 0is -2, then what is the value of k ?
A 2
B.3
C.1

D.4

Answer:

o Watch Video Solution

17. Choose the correct alternative from those given below
each question:

If for a quadratic equation


https://dl.doubtnut.com/l/_6tD8v12T1tos
https://dl.doubtnut.com/l/_agjIgKkUvfNt

b — 4ac = 0, then which of the following statements is
true ?

A. The roots are real and unequal

B. The roots are real and equal

C.The roots are not real

D. The roots are irrational

Answer:

° Watch Video Solution

18. Determine whether the value given against each of the
gaudratic equation are the roots of the equation.

(ii)2w2—7w—|—6:0,m:§, — 2.


https://dl.doubtnut.com/l/_agjIgKkUvfNt
https://dl.doubtnut.com/l/_s5od8VBJ9wq4

A (a) 2, —

B.(b) 2, —

| W o

C.-2.6666666666667

D.-35

Answer:

° Watch Video Solution

19. Choose the correct alternative from those given below

each question:
For the quadratic equation

z2 + 10z — 7 = 0, the values of ab,c are

A. a=-1b=10,c=7



https://dl.doubtnut.com/l/_s5od8VBJ9wq4
https://dl.doubtnut.com/l/_9r3MT2kz8an8

B. a=1,b=-10,c=-7

C. a=1,b=10,c=7

D. a=1,b=10,c=7

Answer:

o Watch Video Solution

20. Write the following quadratic equations in the
standard form:

3y> =8y —5

o Watch Video Solution



https://dl.doubtnut.com/l/_9r3MT2kz8an8
https://dl.doubtnut.com/l/_WtVqqzRRM4dm

21. Write the following quadratic equations in the
standard form:

422 +7 = 32

o Watch Video Solution

22. Write the following quadratic equations in the
standard form:

by + 4 =y

o Watch Video Solution

23. Write the following quadratic equations in the

standard form:


https://dl.doubtnut.com/l/_JhucZrI94f5b
https://dl.doubtnut.com/l/_m9ue9kdHpJV3
https://dl.doubtnut.com/l/_IvR4jxfS3mRa

322 =10z + 7

o Watch Video Solution

24.1s x=-1 a root of the quadratic equation

2 — 3z —4=0?

o Watch Video Solution

25. What are the roots of the following quadratic
equations?

PP —9=0

o Watch Video Solution



https://dl.doubtnut.com/l/_IvR4jxfS3mRa
https://dl.doubtnut.com/l/_ikYhbL9Jr2Vm
https://dl.doubtnut.com/l/_f6DPK3FL5Du4
https://dl.doubtnut.com/l/_i884ZSFnZZmR

26. What are the roots of the following quadratic
equations?

:c2—|—3:13—i—2:O

° Watch Video Solution

27. What are the roots of the following quadratic
equations?

m2—|—w—6:0

° Watch Video Solution

28. What are the roots of the following quadratic
equations?

(z+5)(z—2) =0


https://dl.doubtnut.com/l/_i884ZSFnZZmR
https://dl.doubtnut.com/l/_NyfDPtE39WWz
https://dl.doubtnut.com/l/_9DyMy6ATs8Eu

o Watch Video Solution

29. For solving the following quadratic equations by
completing square method, find the third terms:

2+ 8 = 15

o Watch Video Solution

30. For solving the following quadratic equations by
completing square method, find the third terms:

> —3y—10=0

° Watch Video Solution



https://dl.doubtnut.com/l/_9DyMy6ATs8Eu
https://dl.doubtnut.com/l/_dTdgULgSKy3p
https://dl.doubtnut.com/l/_wgTyFtJU6eRM

31. For solving the following quadratic equations
completing square method, find the third term:

4m? —8m +5 =10

o Watch Video Solution

32. Determine the nature of the roots if

‘b”*2-4ac=0

o Watch Video Solution

33. Determine the nature of the roots if

'b"2-4ac gt O

o Watch Video Solution



https://dl.doubtnut.com/l/_TzDpBOo8hmsd
https://dl.doubtnut.com/l/_yayG07B7QkEj
https://dl.doubtnut.com/l/_r16zuFxSJXV0

34. Determine the nature of the roots if

‘b*2-4aclt O

o Watch Video Solution

35. Find the value of the discriminant (Delta) in each of the
following quadratic equations :

22 +4r+4=0

o Watch Video Solution

36. Find the value of the discriminant (Delta) in each of the

following quadratic equations :


https://dl.doubtnut.com/l/_r16zuFxSJXV0
https://dl.doubtnut.com/l/_CpBmRqSJ6lQV
https://dl.doubtnut.com/l/_J9konzPztniO
https://dl.doubtnut.com/l/_mR0cBAFR8HM9

y? —3y—10=0

° Watch Video Solution

37. Find the value of the discriminant (Delta) in each of the
following quadratic equations :

4m? —8m +5 =10

° Watch Video Solution

38. Write the quadratic equations in variable x, if

‘alpha + beta = -6, alphabeta=4

o Watch Video Solution



https://dl.doubtnut.com/l/_mR0cBAFR8HM9
https://dl.doubtnut.com/l/_LWzW9aXEsbpR
https://dl.doubtnut.com/l/_8yozgUPLETrP
https://dl.doubtnut.com/l/_qPX3ZxI8DqcF

39. Write the quadratic equations in variable x, if

‘alpha + beta = 8, alphabeta= -3

o Watch Video Solution

40. Write the values of alpha + beta and alphabeta for the

following quadratic equations:

224+ 92 —10=0

° Watch Video Solution

41. Write the values of alpha + beta and alphabeta for the

following quadratic equations:

422 — 52 +3 =0

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_qPX3ZxI8DqcF
https://dl.doubtnut.com/l/_KdiqarEY873S
https://dl.doubtnut.com/l/_hVMziLw7jc0m

42.Find the values of a and b from the quadratic equation
by comparing with general form:

262 — 52 +7=0

o Watch Video Solution

43. If the roots of 2z° — 6z + k = 0 are real and equal ,

find k.

o Watch Video Solution

44.Find the values of a,b and c for the following quadratic

equations by comparing with general form:


https://dl.doubtnut.com/l/_hVMziLw7jc0m
https://dl.doubtnut.com/l/_qcJQsHzpgqlQ
https://dl.doubtnut.com/l/_ADquxT6OaDwg
https://dl.doubtnut.com/l/_JnXFUvB8oT3S

2’ —2—-3=0

° Watch Video Solution

45. Find the values of a,b and c for the following quadratic
equations by comparing with general form:

262 — 3 +7=0

o Watch Video Solution

46. Find the values of a,b and c for the following quadratic
equations by comparing with general form:

522 +Te +2=0

o Watch Video Solution



https://dl.doubtnut.com/l/_JnXFUvB8oT3S
https://dl.doubtnut.com/l/_We3TfD20TSBL
https://dl.doubtnut.com/l/_vfjMI7S9eLwu

47. Find the values of a,b and c for the following quadratic
equations by comparing with general form:

6z — 13z +6 =0

o Watch Video Solution

48. Solve :

2 +8+15=0

o Watch Video Solution

49, If a=1,b=8,c=15, find the value of b"2-4ac.

o Watch Video Solution



https://dl.doubtnut.com/l/_14t5aNCffCh2
https://dl.doubtnut.com/l/_g6R9xIPGoVvh
https://dl.doubtnut.com/l/_x4HUsS8XGeCA

50. Form quadratic equations from the information given
below:
The sum of seven times a natural number (x) and its

square is 60.

o Watch Video Solution

51. Form quadratic equations from the information given
below:

The sum of a number (m) and its reciprocal is 10/3.

o Watch Video Solution



https://dl.doubtnut.com/l/_BQikU1l6u29G
https://dl.doubtnut.com/l/_sYtHlmgNj3hC

52.If one root of the quadratic equation

2 — Tz + k = 0is 2, find the value of K.

° Watch Video Solution

53.If x=3 is one of the roots of the quadratic equation

kz? — 10z + 3 = 0, find the value of k.

° Watch Video Solution

54. Complete the following activity to find the value of the
discriminant for the quadratic equations:

422 — 52 + 3 = 0 Here a=4,b=...,c=3

° Watch Video Solution



https://dl.doubtnut.com/l/_IWYgB5f0jNfB
https://dl.doubtnut.com/l/_jXdtIZjMikdQ
https://dl.doubtnut.com/l/_0Gi9CZv981eZ

55. Find the value of the discriminant of each of the
following quadratic equations:

2 +4z+3=0

o Watch Video Solution

56. Find the value of the discriminant of each of the

following quadratic equations:

V322 + 222 —2,/3=0

o Watch Video Solution



https://dl.doubtnut.com/l/_0Gi9CZv981eZ
https://dl.doubtnut.com/l/_sv4gnmj6vLkN
https://dl.doubtnut.com/l/_nVK7EhpZ6SJc

57. Find the value of the discriminant of each of the
following quadratic equations:

2 —6z+ k=0

o Watch Video Solution

58. Determine the nature of the roots of the following
equations from their discriminants:

422 + 122 +9 =0

o Watch Video Solution

59. Determine the nature of the roots of the following

equations from their discriminants:


https://dl.doubtnut.com/l/_nIQae7aw3axZ
https://dl.doubtnut.com/l/_r316YeivBXkp
https://dl.doubtnut.com/l/_1OxnTzT1iKY9

322 — 22 +2=0

° Watch Video Solution

60. Determine the nature of the roots of the following

equations from their discriminants:

V3z? + 10z — 8,/3=0

° Watch Video Solution

61. Find the values of alpha + beta and alphabeta for the

following quadraic equations:

422 + 122 +9 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_1OxnTzT1iKY9
https://dl.doubtnut.com/l/_E2aea8ybDer6
https://dl.doubtnut.com/l/_cZBEupd8Jz4S

62. Find the values of alpha + beta and alphabeta for the

following quadraic equations:

322 — 22 +2=0

o Watch Video Solution

63. Find the values of alpha + beta and alphabeta for the
following quadraic equations:

2’ +z+2=0

o Watch Video Solution

64. Find the values of alpha + beta and alphabeta for the

following quadraic equations:


https://dl.doubtnut.com/l/_5ARaZlunTllM
https://dl.doubtnut.com/l/_cbn3sret9Rdh
https://dl.doubtnut.com/l/_dNGJfV4jNKHn

202 — Te — 22 =0

o Watch Video Solution

65. Form the quadratic equation, if the roots are

—2 and — 3.

o Watch Video Solution

66. Form the quadratic equation, if the roots are

L nd —4
g An¢ ~

o Watch Video Solution



https://dl.doubtnut.com/l/_dNGJfV4jNKHn
https://dl.doubtnut.com/l/_oP546CmlQIHk
https://dl.doubtnut.com/l/_hXtCbxzGYjFV

67. Form the quadratic equation, if the roots are

11
o At 3

o Watch Video Solution

68. Form the quadratic equation, if the roots are

2 3
3 and 3

o Watch Video Solution

69. Form the quadratic equation, if the roots are

3 and 8

A. Form the quadratic equation, if the roots are


https://dl.doubtnut.com/l/_18Ry3DCGcEKW
https://dl.doubtnut.com/l/_2aqUlHpZPXaM
https://dl.doubtnut.com/l/_04PU4zmu8eGu

Answer:

o Watch Video Solution

70. Form the quadratic equation, if the roots are

-3 and-7

° Watch Video Solution



https://dl.doubtnut.com/l/_04PU4zmu8eGu
https://dl.doubtnut.com/l/_nWFGHPfoqsi3

71. Form the quadratic equation, if the sum of the roots is

24 and the product of the roots is 140.

° Watch Video Solution

72. Solve the quadratic equation /32 + 4z — 7,/3 = 0

by factorisation method.

° Watch Video Solution

73.One of the roots of the quadratic equation
kz? — 3z — 1 =0 is 1/2. Complete the following activity

to find the value of k.

° Watch Video Solution



https://dl.doubtnut.com/l/_sfD6vKfJfRKO
https://dl.doubtnut.com/l/_FGJ3cPfFLlqC
https://dl.doubtnut.com/l/_nhvVGLwe18Gv

74. Solve the following quadratic equations by
factorisation method:

6z + Tx —24 =0

o Watch Video Solution

75. Solve the following quadratic equations by

factorisation method:

Ty = —3y* — 4

o Watch Video Solution



https://dl.doubtnut.com/l/_nhvVGLwe18Gv
https://dl.doubtnut.com/l/_MQVAMASxOe4y
https://dl.doubtnut.com/l/_OSw3HPbB9ZeL

76. Solve the following quadratic equations by the method
of completing square:

2 +3z+1=0

o Watch Video Solution

77. Solve the following quadratic equations by the method
of completing square:

r? =3+ 4z

o Watch Video Solution

78. Determine the nature of roots for the quadratic

equation: v/3z% + /2 — 2,/3 = 0



https://dl.doubtnut.com/l/_o7eIVGSQ65Vg
https://dl.doubtnut.com/l/_VrwPC9Dr7qBA
https://dl.doubtnut.com/l/_x1XgRf3lKxdw

I o Watch Video Solution

79. If a and [ are the roots of the quadratic equation

z? — 4z — 6 = 0, find the values of a* + 32

o Watch Video Solution

80. If a and (3 are the roots of the quadratic equation

z? — 4z — 6 = 0, find the values of a® + 83

o Watch Video Solution

81.If x=4 is one of the roots of the quadratic equation

322 + kx — 2 = 0, find the value of k.



https://dl.doubtnut.com/l/_x1XgRf3lKxdw
https://dl.doubtnut.com/l/_ITeGMIRaXcNJ
https://dl.doubtnut.com/l/_097sV7Vibb1L
https://dl.doubtnut.com/l/_QXshQzlvYwQ0

I ° Watch Video Solution

82. Solve the following problem:
The product of two consecutive even natural numbers is

120. Find the numbers.

° Watch Video Solution

83. Solve the following problem:
The difference between the square of a natural number

and the number itself is 110. Find the number.

° Watch Video Solution



https://dl.doubtnut.com/l/_QXshQzlvYwQ0
https://dl.doubtnut.com/l/_rb6Nsa0FMoe2
https://dl.doubtnut.com/l/_6FSBUCgxMcDm

84. Write the quadratic equation.
(p"2+5)/3p”2 =7 in the standard form. Find the value of its

discriminant. Wrte the nature of its roots.

o Watch Video Solution

85. Complete the following activity to solve the equation

z? — 10z — 2 = 0 using formula :

o Watch Video Solution

86. alpha and beta are the roots of

z? — 3z — 7 = 0. Complete the following activity to find


https://dl.doubtnut.com/l/_uofV2vqvopRi
https://dl.doubtnut.com/l/_kP3kga6O4qlg
https://dl.doubtnut.com/l/_7KaeEvIWb3yy

the value of

o’ + ,83.

o Watch Video Solution

87. The question based on the opportunity to express
one's opinion.

Answer the following questions , with reasons, based on
the quadratic equation

2 — 22 —5=0

Is it a quadratic equation?

° Watch Video Solution



https://dl.doubtnut.com/l/_7KaeEvIWb3yy
https://dl.doubtnut.com/l/_gEoWKeQ1joa6

88. The question based on the opportunity to express
one's opinion.

Answer the following questions , with reasons, based on
the quadratic equation

2’ -2z -5=0

Can this equation be solved by factorisation method ?

o Watch Video Solution

89. The question based on the opportunity to express
one's opinion.
Answer the following questions , with reasons, based on

the quadratic equation

22— 22 —-5=0


https://dl.doubtnut.com/l/_UT5MjPU1zGPA
https://dl.doubtnut.com/l/_UJxRCdmnR7MB

Which term should be added to make the polynomial

'x"2-2x a perfect square?

o Watch Video Solution

90. Construct a word problem on quadratic equatiion, such

that one of its answers is 20 and solve it.

o Watch Video Solution

91. A dealer sells a toy for Rs 24 and gain as much percent

as the cost price of the toy. Find the cost price of toy.

o Watch Video Solution



https://dl.doubtnut.com/l/_UJxRCdmnR7MB
https://dl.doubtnut.com/l/_UhGBX35z8aEy
https://dl.doubtnut.com/l/_erVSDprnG9Uv
https://dl.doubtnut.com/l/_6fzF5DeloFsr

92. Solve the following problem:
The product of four consecutive natural numbers is 840.

Find the numbers.

° Watch Video Solution

93. Solve the following problems:

A passenger train takes 2 hours more than an express
train to travel a distance of 240 km . The speed of the
express train is more than that of passenger train by 20

km/h. Find the speed of both the trains.

o Watch Video Solution



https://dl.doubtnut.com/l/_6fzF5DeloFsr
https://dl.doubtnut.com/l/_XrtAyLG5by4d

94. Solve the following problems :

The distance between Akola and Bhusaval is 168 km. An
express train takes 1 hour less than passenger train to
cover that distance . Find the average speed of each train,
if the average speed of the express train is more by 14

km/h than the speed of the passenger train.

o Watch Video Solution

95. Solve the following problems:
Around a square pool, there is a footpath of width 2 m. If
the area of the footpath is 5/4 times that of the pool, find

the area of the pool.

o Watch Video Solution



https://dl.doubtnut.com/l/_OV7VdrHh3mZN
https://dl.doubtnut.com/l/_BxHZ8A2UX5u9

96. Solve the following problems :

Yogesh required 3 days more than vivek to do a work. If
both of them work together, the work can be completed in
2 days . Find the number of days required by each of them

to complete the work.

o Watch Video Solution

97. Two pipes running together can fill a cinstern in 31—3
minutes.If one pipe takes 3 minutes more than the other

to fill it,ind the time in which each pipe would fill the

cistern.

° Watch Video Solution



https://dl.doubtnut.com/l/_BxHZ8A2UX5u9
https://dl.doubtnut.com/l/_q2NZmvLS9PLE
https://dl.doubtnut.com/l/_Mds0zSnPlgkf

98. Solve the following problems :
The sum of the areas of two squares is 400 sq m. If the
difference between their perimeters is 16 m. Find the sides

of two squares.

o Watch Video Solution

99. Solve the following problems:
If one root of the quadratic equation
ax® + bx + ¢ = 0 is half of the other root, show that

b”"2=9ac/2.

o Watch Video Solution



https://dl.doubtnut.com/l/_fPe0Ns0045Ey
https://dl.doubtnut.com/l/_jB5plSyflRNR

100. Solve the following problems:

ol 1 11
ove.4_p 2+p—4

o Watch Video Solution



https://dl.doubtnut.com/l/_H9vPTlfc4U8I

